Vebile Mechanics Calculations

Where an object is in equilibrium, there can be no unbalanced force NOR torque acting on the object. That is:
2F=0and Xt=0

Project Calculations: You must complete similar calculations for EACH beam (each group should have at least
three beams). If you have more than three beams, complete the calculations for the lowest three beams.
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Net Torque Calculations:
Sum the torques about the axis of
rotation. Note, the supporting thread
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VERY nearly zero.
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Sum the forces acting on the beam.
The sum of the forces acting down F.r = q L‘l N
should be equal to the tension force | i

supporting the beam.




In addition, your calculations must
be clear and neat, as demonstrated
in these samples.




